il Click on the logo to visit the Session 2022-23 Q-33* u Click on logo to visit our
K website Main Zone-5, Set-1 ” Channel

Revenue from Operations = Rs. 10,00,000

Gross profit 20% of Revenue from Operations
= 20% x Rs. 10,00,000

= Rs. 2,00,000

Cost of Revenue from Operations Revenue from Operations — Gross Profit
= 10,00,000 - 2,00,000
= Rs. 8,00,000

Now, Inventory Turnover Ratio = 4 times

Cost of Revenue from Operations

Inventory Turnover Ratio =
Average Inventory

4 8,00,000
- Average Inventory
Average Inventory = Rs. 2,00,000

(Opening Inventory + Closing Inventory)
2

Average Inventory =

2 x 2,00,000 Z x Closing Inventory + Closing Inventory
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4,00,000

Closing Inventory

Opening Inventory

Z x Closing Inventory

Rs. 3,20,000
1
- x 3,20,000
4

Rs. 80,000
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